Elimination Part 3| MFM2P

Consider the following linear system.

3x+4y=11 ©
2x+5y=12 ©

e Canyou add or subtract the equations right away to eliminate a variable?
e Is there a way to multiply one of the equations to make variables match?

So we need to modify our elimination method one more time to help with this final case. It sure would
be nice if there was some way you could change the equations to make the variables match....
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Linear System: Multiply... New Linear System:
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Linear System: Multiply... New Linear System:
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